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QUESTION 1

Examine the following command for RMAN backup: 

RMAN> RUN { 

ALLOCATE CHANNEL c1 DEVICE TYPE sbt; 

ALLOCATE CHANNEL c2 DEVICE TYPE sbt; 

ALLOCATE CHANNEL c3 DEVICE TYPE sbt; 

BACKUP 

INCREMENTAL LEVEL = 0 

(DATAFILE 1,4,5 CHANNEL c1) 

(DATAFILE 2,3,9 CHANNEL c2) 

(DATAFILE 6,7,8 CHANNEL c3); 

SQL \\'ALTER SYSTEM ARCHIVE LOG CURRENT\\'; 

} 

Which statement is true regarding the approach in the command? 

A. The RMAN multiplexing level is 4. 

B. It is the use of asynchronous I/O by RMAN. 

C. It is a case of parallelization of the backup set. 

D. It is an implementation of a multisection backup. 

Correct Answer: C 

 

QUESTION 2

You realize that the control file is damaged in your production database. After restoring the control file from autobackup,
what is the next step that you must do to proceed with the database recovery? 

A. Mount the database 

B. Open the database in NORMAL mode 

C. Open the database in RESTRICTED mode 

D. Open the database with the RESETLOGS option 

Correct Answer: A 
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QUESTION 3

The database users regularly complain about the difficulty in performing transactions. On investigation, you find that
some users perform long-running transactions that consume huge amounts of space in the undo tablespace, which
caused the problem. You want to control the usage of the undo tablespace only for these user sessions and you do not
want these sessions to perform long-running operations. 

How would you achieve this? 

A. Implement a profile for the users. 

B. Implement external roles for the users. 

C. Set the threshold for the undo tablespace. 

D. Implement a Database Resource Manager plan. 

Correct Answer: B 

 

QUESTION 4

Which option must you configure while performing an automated Tablespace Point-in-Time Recovery (TSPITR) by
using Recovery Manager (RMAN)? 

A. New channels for restore and recovery tasks 

B. New name for the data files of the tablespace 

C. Auxiliary name for the data files of the tablespace 

D. Auxiliary destinations for an auxiliary set of data files 

Correct Answer: D 

 

QUESTION 5

View the Exhibit and examine the parameter settings in your server-side parameter file (SPFILE). When you tried to
start the database instance, you received the following error: 

SQL> startup ORA-00824: cannot set SGA_TARGET or MEMORY_TARGET due to existing internal settings, see alert
log for more information 

Why did the instance fail to start? 

Exhibit: A. Because the PGA_AGGREGATE_TARGET parameter is not set 
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B. Because the STATISTICS_LEVEL parameter is set to BASIC 

C. Because MEMORY_TARGET and MEMORY_MAX_TARGET cannot be equal 

D. Because both the SGA_TARGET and MEMORY_TARGET parameters are set. 

Correct Answer: B 
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